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This test has three questions and a maximum of 24 pts. Please use complete sentences when answering
the essay questions (no bullets, lists etc.)! Do not write on this exam paper, but provide your answers
in the answer sheet.

Kysymyksiin saa vastata suomeksi

1) Relating to allocation of service department costs to production cost centers (Kaplan and
Atkinson):
a. How does such internal allocation improve cost control and efficiency? (2 pts)
b. What kind of negative consequences may occur if internal service department costs are
not assigned to user groups? (4 pts)
c. What are the economic insights provided by the reciprocal allocation method? (2 pts)

2) Explain the concepts of life-cycle costing, target costing and Kaizen costing in management
accounting. How do these concepts relate to each other? (10 pts)

3) Reapportionment of service department costs

Runner Co. Ltd’s budgeted overheads for the forthcoming period applicable to its production
departments, are as follows:

Production department 1 700 000€
Production department 2 450 000€

The budgeted total costs for the forthcoming period for the service departments, are as follows:

Service department A 140 000€
Service department B 98 000€

The use made of each of the services has been estimated as follows:

Production department Service department
1 2 A B
A: 20% 55% - 25%

B: 52% 28% 20% -



Required:

Apportion the service department costs to production departments and provide the costs of each
production department:

a) using the step-wise (specified order of closing) method, (2,5p)
b) using the reciprocal (simultaneous equation) method. (3,0p)

c) Comment briefly your figures and these two different methods.  (0,5p)

Please remember to show all the calculations.






